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@Zc*]:
» ÎZßV Óx�VÐ CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

�Z[�bÑiòìX
ìXCÙÎZwÆ ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[Ñiò  10 zZzw~ .1

(10 x 1 = 10 Marks) ��ìX  1a
/V6,�ìX (200) ÎZÑ]�ÔZk~Ð¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ 8 z�zx~ .2

(5 x 6 = 30 Marks) �Z]��X 6 CÙÎZwÆa
/V6,�ì (500) CÙÎZw»�Z[½ã0*õÎ ÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�X 5 zÎx~ .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa
zZzw

(1) ÎZw

ÐH%Z�ì? Abstractions~ BNF (i)

ÐM\HB�? Semantic Issue    (ii)

�D�X Change Åz�s#�D��'''Ã Imperative Programs ~Computer þ    (iii)

program, state, sequence of statement (b) sequence of statement, program state (a)

Zy~ÐÃð7 (d) Sequence of commands, programs (c)

''''ìX Imperative Programming Languages (iv)

'''''ìX  Statically Checked Languages (v)

ÐH%Z�ì? Concurrent Program (vi)

Hì? SymbolsÆ Non Terminal Zzg Terminal ~ BNF (vii)

ÐH%Z�ì? Scheduler (viii)

ÐH%Z�ì? Pragmatics (ix)

ì Client-server Application (x)

thread for image load (b) Thread for text rendering (a)

Thread for User Input (d) Zy~ÐÃð7     (c)

P.T.O



z�zx

6,âK̂X "Programming Paradigms" (2)

Åz�s#�,X Process Abstraction Zzg Data Abstraction (a) (3)

ÐM\HB�? Polymorphism (b)

Æ�gxy�ÛtÅz�s#ÙX Languages Zzg Imperative Languages (4)

Å�z9ÃyÏ�?VwÆ�Bz�s#�,X Synchronization (5)

6,âK̂X "Static Semantics versus Dynamic Semantics" (6)

»_·�äÅz�;]H�? Programming Languages (7)

KX Logic ìc*7¥x�äÆaËÌi!*y~ Prime Number (a) (8)

~$+áX BNFÐEBNF Ã Expression qgzfs (b)

         <expr> -------->      <expr>+<term>

|  <expr>-<term>

|  <terms>

|  <expr> * <term>

          <terms>------>    <terms>*<factors>

|  <terms>/<factors>

|  <factors>

ù�Mh�? Hiding ÆH¯ZZ+�?M\ËÌi!*y~ Information Hiding (9)

zÎx

Åz�s#ÙX Areas of computer applications (Proramming Domains) (a) (10)

6,̈g�,X Assignemnt Statement qgzfs¤/Z% (b)

        <assign>----->   <id>=<expr>

       <id>   ---------->     A  | B |C

        <expr> -------->            <id >+<expr>

     |  <id >*<expr>

     |  (<expr>)

     |   <id>
ÉÀ�/õGX Left most derivation to generate A=B * (A+C)?



KX Program �äÆaÛR, Implement Ã Abstract Data Type Concept (a) (11)

~�Ût�,X Imperative Paradigm Zzg Object Oriented Paradigm (b)

KX Applications Æa Logic Programming (a) (12)

KX Observations Zzg LogicÆ Factorial Calculation Æa Number~ML Zzg C Language (b)

Applications » Concurrent Systems �äÅH¢zg]ì? Develop Ã Concurrent Systems (a) (13)

KX
Æ�Bz�s#�,X Diagram Å StatesÆ Thread (b)

Hì? "Operational Semantics of an Imperative Langauge" ¿îg6,z�s#�,� (14)

///


